H
S
o

(0 ¢) (rad)
o(d cot(v))

=
S
i
T
—_—

1072

LR
.! -
........;t................. .

-
] I b T T 1 1 O A

10 P

= 3

r +
010_4_ L .......! v .......! L inn o
= 4 2
© B B ©
O 1S fe e @

] 2 3 2 3
TPlpg)T (PCA t%obeamliné[f) TPlpoT (PCA t%obeamliné[f)
—=— DQM_CKF_softQCD
—e— DQM_mkFit_SoftQCD-updated
—— DQM_mkFit_SoftQCD-DNNsqcd100

=~ 1 —~
= : 1]
) G
2 e
= =
< -
> o
o o
3 ©

107

1072 1072

""""" R

1 2 3 -1 2 3
10 1 TPlp?T (PCA t%obeamliné'p 10 1 TPlp?T (PCA tjbobeamliné'f)

-
- T
o I S | T
g ; p :

o :llﬂ

o Lo
2 ;

<]

[any
<
i

L. .:' ......... T T
Tl
1012k I L I |




	Contents
	Page 1


